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BEMPREL N> R4 R 113, 000m2
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ARSI E (%4 H=1. Om PN&%) 4, 600m2
ARSI E (94 H=2. Om PN4F)  30m2
ARSI E (E H=0. 3m NHF) 110 kK
ARSI E (EH H=0. 6m NHF) 220 kK
ARSI E (EH H=0. 9m NHF) 200 Kk
AFEBIE (H=0. 5m N4F)  130m
AFEBIE (H=1. Om N4F)  420m
AFEBIE (H=2. Om N4F)  380m
EARFEARTIE (k) AZER C=30cm LL_E 60cm) 10 AR
EARERETE (WEBEILHERT C=15em LA E 30em) 4K
EARKEETE (PELEILZEM C=30em LL_E 60cm) 13 A
EARERETE (WEBEILHERT C=60cm LA E 90em) 9 R
BB E (WEBEILIEMST C=90cm PL_E 120em) 20 A
EARIR BT (F kA BER C=30cm LA L 60cm) 2 AR
EAREEITE  (BFEER C=90cm LA L 120cm) 15 K
SUMISIE  160m2
FARGAUBS LA ERE AN 600 A
mZbEE B2A
#EAK 60 H



